EEE203, TEST 3. NAME:__SOLUTIONS
30’, closed books and notes, calculators and transform tables allowed

Problem 1: Consider the filter with impulse response h(t) = ey (t —21). Find the Fourier transform
of the output Y(jw) when X(t) = e *u(t)
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Problem 2: Consider the continuous time causal filter described by the differential equation
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ot + 3y = 2X. Find the response of the filter to x(t) = cos(t).
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Problem 3: Let x(t) be the periodic signal shown in the figure below (square wave with offset).
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Compute the coefficients a, of the Fourier series expansion of x(t).
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